1. B CIE—EEMORBNOHEE (BF0TE118)

B kg
A= LD BB DB R EEBEREYY— 1815
188 iR A CHDIE%E
% B | A2 | NER . BE |BRCH| NRELL
73\?’1% = —
E’;\ ]\/DU_I\ /_‘-E/E(__aj‘

FH < ¥ < &F 8 RPN | B B A5t
[ATEI1R O O 2,620 O O O 2,620




—. Bzt RKRORERR (B[HTE118)

A DIHDEHR EEBREEYY— BYiE
£ X P No £ X P No.2
No. I5 B & S =R 81 | No. I5 B & S =R =2hjyj
1 | KRABVEE 6.9 — 1 | KERAZVEE 0.6 -
2 |BRIEEX 27 mS/m|| 2 SBRIZGE 24 mS/m
i o S 11 meg/L|| 3 |[&tHhrzY 7.3 me/L
AR RIRE R B HA0TE118198
M = SATFE118198~118258
vs I i E3

A D HIREENIRIEXSRRIRIZEDITE




